V00Z~VYOrESIMNE 0D

Nid 1HOIVYLS NOILOVYH1X3 DO

PR5-100A-015

PR5-100A-015

—14.50—

PR5-100A-017

—15.00—

d l
s b & B PCB LAYOUT
l p @ S @ o5 S
< Y 4
| - 2,601 N
TMeeH 1450 | L‘D |:| |:| j
=y -—6.00
1 T MoeH —14.50—
3 —_ MS5-6M  —14.00—
I = i [ -
8 ik < T o
? a - 3 g S
L——-x.so § 'L 1.50 jc T—«—H,SO
L a0 5‘“’”‘% :1 L1500 S‘E'UO‘Q;E‘ T-—13,50—J 6-2.00= J—Le;,oo
# RS #¥(Technical Data) RS ¥ (Technical Data) # RS (Technical Data)
B  BE(Center Space) 6.25x13.0mm 8]  BE(Center Space) 6.25x13.0mm 8 BE(Center Space) 6.0x13.5mm
#i7E At (Rated Current) 100A e At (Rated Current) 100A #7E FEif(Rated Current) 100A
[ELZ4E£T(Screw) M5 [ELZ4E£T(Screw) M5 [E£ZH#84£](Screw) M5
12 4£45F (Terminal Body) Brass,Tin Plated 124£i% F(Terminal Body) Brass, Tin Plated 12328 F(Terminal Body) Brass,Tin Plated
424T414E(Screw Torque) 24 Ibf - in #34TH1%5(Screw Torque) 24 |bf + in #B4THI4E(Screw Torque) 24 Ibf « in
PR5-100A-017 PR5-100A-018 PR5-120A-001
14.50—
[ fo oo
l L . —14.50—
2 2 ] e ©
™ L 2601 I S
L ] = 1 E | o Lavour
Je.25 N Y n 40
4-92
Me-6H  —14.50— L H J—-@ ]
—13.10

[-—‘15,20—-] r—14.00—-

PCBHR/1R iR 1T

PR5-130A-003

14.5—

&
: (e Z r:l -
& @ ? T n.un;s
=== o

=
5
%E—M‘i -6H 20,0

I T

RS (Technical Data)

. BEFRE, HREES,

PR5-130A-004

—14,5——
5
i
l O i oo
UL
I = fimim
—85— bt
%a-m—sw 20.0———
n
S {15 °
| G 6—3.0-&&;1] j

#ARSH(Technical Data)

R HREERNA+HZPCS

PR5-130A-005

12.0—
&
S
YL Em T
S—1te ]
/+\\, l g PGB LAYOUT ~
/ 41 LY
e o
L—9,3—J
20,0——
Q
¥

4,7 !

$ RS % (Technical Data)

1 MS-6m l% —15,00—
QR Q 1
X 3 S
1150 l l r-1.50 mj ™~ 1.50 j
- T -2, U 4—1.90-‘%
L—13,50—-] 6-20 -I—LS.OO I._13‘gg._J 6'2'00J _Ls,zsj— |—13.00-J 13.10 §;
RS #(Technical Data) $ RS ¥ (Technical Data) R RS ¥ (Technical Data)
B  BE(Center Space) 6.0x13.5mm {8 BE(Center Space) 6.25x13.0mm B B5(Center Space) 13.1x13.0mm
#MEFifi(Rated Current) 100A &z rif(Rated Current) 100A £ sif(Rated Current) 120A
[E£X384T(Screw) M5 [E£44T(Screw) M6 [E£%3841(Screw) M5
124% T (Terminal Body) Brass,Tin Plated 12355 F(Terminal Body) Brass,Tin Plated 1248 F(Terminal Body) Brass, Tin Plated
SRETHA%E(Screw Torque) 24 1bf - in $R4T4R4E (Screw Torque) 301bf + in #24TH14E(Screw Torque) 241bf - in

037/

8  BE(Center Space) 8.5x13.0mm
#hE i (Rated Current) 130A

[E£248%] (Screw) M4

124£45F (Terminal Body) Brass, Tin Plated
#24T401%5(Screw Torque) 12 Ibf - in

PR5-160A-001

8  BB(Center Space) 8.5x13.0mm
#izErif(Rated Current) 130A

R 458£T(Screw) M4

124245 F(Terminal Body) Brass, Tin Plated
#24T414E(Screw Torque) 121bf - in

PR5-160A-002

18]  #B(Center Space) 9.3x10.5mm
e aifi(Rated Current) 130A
[E£232%](Screw) M5

$2 4255 F (Terminal Body) Brass, Tin Plated
4R4THI4E(Screw Torque) 20 Ibf - in

PR5-160A-003

——16.00— ——16.00—— ——16.00—
H . Oooo 1 H mooo [ | noooo
Lo . 1 T s
SHEDH ¢ : O ¢ 3
YN/ X 370t 3 ¥ X i 3 L~U— L 37 ¥
J 11 1 _ § 1 L . i 1 Moood
]l o o o
PCB uvou1-l—L5,6o PCB LAYOUT. 5.60 <'—|-M6 -6H —20.00-
M6-6H 20,00 M6-6H — ——20,00—— ==
l = [ : ] l
g | Y ] 8 ! 8 S
S o z Y ¥ 3
[ 1200 oyt [ Juut [gye H
L1400 8310 1 Lsé L1400 83107 L Lseo T yq00] 83007 %.sa
# RS (Technical Data) # RS ¥i(Technical Data) RS #(Technical Data)
18 BB(Center Space) 5.6x14.0mm 8  B5(Center Space) 5.6x14.0mm 1B  BE(Center Space) 5.6x14.0mm
#ME fi%(Rated Current) 160A #RE A (Rated Current) 160A #i2sif(Rated Current) 160A
[E£X484T(Screw) M6 [E£:484T(Screw) M6 E£:384T(Screw) M6
124E4F(Terminal Body) Brass,Tin Plated 124£4 F(Terminal Body) Brass,Tin Plated 124EHF(Terminal Body) Brass, Tin Plated
#RETHI4E(Screw Torque) 30 Ibf + in #24TH1%E(Screw Torque) 301bf - in #24TH%E(Screw Torque) 30 Ibf + in

/038

Y00Z~YOrEHIMNE 00

NId LHOIVYLS NOILOVYHL1X3 J0



